Maths — Tuesday 5
January

Year 5 Home Learning
Wibsey Primary School



Arithmetic- Tuesday Sth

606 + 2,525

Hound 3,541 to the nearest 1,000

Complete the .questions

2+3
7 7

Hound 3,541 to the nearest 100

A
120
100

Mumber of 80
children 60

40
20

I:I play a musical instrument

D do not play a musical instrument

How many students are there in total in
Year 47

0

Year 4

Year &

How many more Year 4 children than
Year 6 children play a musical instrument?




Roman Nuumerals- S5th
Answer the .questions

Harder

Hard

Write out the Rom.an Numerals that
O knomw.

emember! [ Value Xmas Like Cows

Do Milk.

1a. Complete the sequences by filling in
the missing Roman numerals.

a) X XII
b) XXXVI XXXV
c) LX LXII

1b. Complete the calculations. Write the
answers in Roman numerals.

XLIX-30=

85 + Xlll =

74 = XXIV =

3a. Use <, > or = to complete the
statements.

LXXI 21
85 XCV
XLVII 48

Use wyour
Rnowledge .of
R.oman
N.wmer.als to
answer these

questions.
Tips:
No symhbol is

wsed .more than
3 times.

Put the numhbers

as close as iou
can to the .main

ket nuumber.

E.g. 49 is close to
50. do the O [first.

Then the 9.
XL = 10 hefore
50

[X- | hefore |0




Roman Numerals -Tuesdoy Sth Answer the questions

Hardest

3b. Arrange the cards below to create 2a. Using your knowledge of Roman
different Roman numerals. Each card numerals to 1,000, work out the value of
may only be used once. the Roman numeral below.

' i I T T (/_ _H\‘n

v ] e ] x MMM

L I W I W N A k\“ _/

Find all the possibilities. Explain your reasoning.

Use your knowledge of Roman Numerals and the ti om the NALOALS




